Parts Information:
EA LE Mobile Parts Storage Cage
Model No: MK53

)
l‘\
0
o.\\‘
O
48
(3
Y

O
",
0

I\ R\
%
()
'
7

.0
¢
W5

A%
5

3
Y/
0
WA
s
%

. '/-".
(3

AR
&
L
X
."f
X
A\

o
5
/5

o
%

A\

‘f

(]

()
X
OO

)
X
Y
X (3

,
A

¢,
v
o
O
Q,’"
Y
¥ "
O’O
%
4

%
.’0 ;

A
0
¢

,;‘\
) ¢;\\;
%
o
O

0

/3
¢
‘:’/
)
SR
{
KA
‘Jf
.f

¢

XXX
0
X
0

4
‘0

W
)

L)
R \J
R
AL
0:0:4:0’
)
(/.
/‘0
"Q‘Q:.v"Q Y
0‘,’ A
)
00
’.’:
O

4

()
/)
'...
¢
%
O
X
%

L
3

05
0
)
s
A
”4

G

)

o0
O

)

’0 OG0

0%
%

(X%

"
O

S
OB
K XAA
'0’0: ¢

,
s
3
o0
B0
0
L)
X

010
’(

ol
v

3
Item | Part No. Description Item | Part No. Description
1 MK53.01 UNDER TRAY 9 MK53.09 SIDE CAGE (BOTTOM)
2 MK53.02 FIXED WHEEL 99X37X8 10 MK53.10 SIDE CAGE (UPPER)
3 MK53.03 PAD PLATE n MK53.11 BACK CAGE (BOTTOM)
4 MK53.04 SCREW (1/4" x 1-1/2") 12 MK53.12 TOP TRAY
5 MK53.05 CASTOR WHEEL 98X38X11 13 MK53.13 SCREW (1/4" x 2-1/2")
6 MK53.06 SCREW (5/16" x 5/8") 14 MK53.14 BACK CAGE (UPPER)
7 MK53.07 LOCK NUT (5/16") 15 MK53.15 HOOK
8 MK53.08 LOCK NUT (1/4")

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10of1 MK53 Issue 2 PL 27/02/18



